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A young’s double slit interferometer is illuminated with green light of wavelength 546 nm.  The double slits are 0.100 mm apart and the screen is 20.0 cm away form the slits.  Find…
1. The angular position of the first minimum on the screen.
2. [bookmark: _GoBack]The angular position of the fifth maximum on the screen.
3. The distance, on the screen, between the first maximum and the fifth maximum.




Answers: 
A young’s double slit interferometer is illuminated with green light of wavelength 546 nm.  The double slits are 0.100 mm apart and the screen is 20.0 cm away form the slits.  Find…
1. The angular position of the first minimum on the screen.
At the first minimum, path difference = 0.5λ
[image: ][image: ]
2. The angular position of the fifth maximum on the screen.
At the fifth maximum, path difference = 5λ
[image: ][image: ]


3. [image: ]The distance, on the screen, between the first maximum and the fifth maximum.

[image: ][image: ]
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A young'sdouble st nteferornete s it ithsrn gt of wavclength
546 nm. The doubl it e .100 mim spart and theseen s 0.0 ¢ sy
form th s Find

1 The angular position ofthe it minimuns o the scree.

2. Theangala posiion o the fh maimum on the crcn.

3. Th distance,onthe seren, betwcen the it maximum and the it



